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Consider a circle C which touches the y-axis at (@, &) and cuts off an intercept

w5 on the x-axis. Then the radius of the circle € is equal to :

(5 X}
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Q@ =2
Explanation
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A circle C touches the line x = 2y at the point (2, 1) and intersects the circle

€4 : x2 +y2 + 2y — 5 =0 at two points P and Q such that PQ is a diameter of (;.

Then the diameter of C is :

Explanation

(x — 22 + (y — 12 + Mx — 2yD =10

C:x2+y? +x(h —4) +y(-2 -2))+5=20

G :x+yl+2y —5-=0

51 — 57 = 0 (Equation of PQ)

A — 4)x — (2h + 4)y + 10 = 0 Passes through (@, —1)
= A= _7

C:x2+y? —11x+12y +5=10

e
I

Diameter = 7+5
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Numerical

The number of integral values of k for which the line, 3x + 4y = k intersects the

circle,

x2 + y2 - 2x — 4y + 4 = @ at two distinct points is

Answer

Correct Answer is 9

Explanation

Circle xX2 + y2 — 2x — 4y + 4 = 0

= (x-1D2+(y-2)2=1

Centre: (1, 2), radius =1

Line 3x + 4y — k = @ intersects the circle at two distinct points.
= distance of centre from the line < radius

Jxlidx2—%k

. <1
NEEmE:

- |
= |11 - kIl < 5
= b <k<?5

~ ke {7, 8, 9, .15} since k € I

-~ Total 9 integral value of k.



